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“and evenZeios appearing in the.Centre Code No. are correctly transferred to the appropnate: .
: 4blocks on the OMR Sheet as shown in-the exampie gwen in: the OMR Sheet For all o

before begmnmg t_ _ answer 1t

3 Begm wzth the ﬁ:stquestlon and keep trymg one quesuon aﬁer another il you ﬁmsh "ooth E
. the Parts .
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: "_A biank page 1§ provided for rough work(at th.e endof eaéh part. -

Ifyoudo natknow the answer to any guestion, do not spend muich time on it a0d pass on to
_ niext one. [f time permits, you can come. back to the questions which you bave Ieft out in

the first instance and try them again.

Since the time allotted to the two parts of this question paper is very limited, you should
make the best use of it by not spending too.muchime on any question.

' Tlme 9{)Mmutes Lo - 1' : Max Marks 90_,”-

_ ‘Nete : SHADE the correc‘t altematzves inthe OMR Answer Sheet provlded from amongst the' .
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Part - I MENTAL ABIL}LTY TEST

ones givenagainst the Gorrespondmgquesnons mthe Questlon Paper Beoklet For shadlng L
: the cmles use 2’ HB Pencil e L e s :
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Birections: Questions (11 .to 20):
Ineach ofthe following quéstions, the second figure in the first unit of the problem ﬁgurc bears

* acertain relationship to the first figure. Simitarly one the answer figure bears the same relationship

to the first figure of second unit of- problem ﬁgures you have to therefore locate the figure, .
which would fit the question mark. . .
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17. Problem Figures
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: 20.: Problem ?igurss
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30 8,7,12, 2 128,635

S Dlrectmns’ Questmns (31 to 40) o T .
Co T these questlons there are equatlons that have become wrong du > 1 mcorrect order of mgns
* Tronvthe: four altematwes' i ' io
- Bécame correct :

4075,12,23; 50, 141, 2

(1)'. 415" = (2 430 _

36 9 9i9xg

254 11 19, 41, ' 161~_f._’f:-:'--

(3}

439 . .

29. 10, 5,5,10,40; _ 7

(1) 350 - 2y 3200 B (3)'- 360 : ”('4). 370

(1) 42° @

. (3) 33 o (4')"i,.2_6.-

1 below, find out the corfect order of signis: Sotha
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. Directions: Qmstmns {41 te 50)

Ineach of the following questions, a set of figures carrying certain characters is giver. Assuming
that the characters in each set follow a similar pattemn, find the missing character in cach case.
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- . . : . . 68. Builet:Riﬂe::Aﬁ'ow:_?'- S ‘ R
J?x14_6x_7+4x:132,x=_ o : e ) (1Y Archer - (2) Bow ‘ (3) Target ~ (4) Cord
‘ (y 1 . @ 3 (3) 4 w2 . 4. 69, House: Mason : : Furniture : 2 - e T o
' 57.'.'496%0.6xO.5=?{approxin1ateiy)- | : R ' (1) Wood . (2)' Chair () Tble (4) Cempentor . -
) 413 () 595 , (3) 1.4_8_ @ 63 70 Needle: Thread : Pen O
..5'8.::151011-4i9999+649991—? BT T SR 2 Ink '. (3)_.Cép"' (4)2.5-%11'
'3'-'.‘_(1) 381_003 (2) 420 103 (3) 3583 0 (@ 4103. L4 Dircetions: Questions (71 fo 80); T
_ o e e S e N '_:__:',Inthesequestlonsaﬁgur '(X)1sgwenw1ththreepartsandfourththha’?mark

__fr..Pen Stmnw iy EET AT TR
(1) Wood -+, (2). Rest . (3) Roam . . (4. Fumire . -
63Damwater Godown 7 T R T

64, Cnmex_Court Dlsease T M TR
Ty Lawyer (.2) Pumshment (3)}__Hojsg_ita1;._ 4y Dagtor o

65, .'_'Mxlhonalre Wealth Gemus YR S L T
Ty Capabllty = (2) Smarmess - (3) Intelligence”(4) - Awareness:: .

:6._.6."'Page Book Brzck 9 : . 3 S o R

RN 09 Heap ' (2) Bm[dmg - (3) Clay - " . (4)  Mason.

67, Drzvmg Bus Flymg 7 s R _ o co L ! _ . ) N Coenl _ T PR
1y Al (2) K1te . (3) Bird @) Aeroplane W1 @) 2 B R S
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Directions: Questions (81 to 90): :
In each of the foliowing questions, there are 4 figures. Three of them are snmla1 ina certam way
but one is not like the other three. Find out, which one of the figures. different from other.
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Part II SCHOLASTIC APTITUDE TEST

Time : 90 Misutes T e Marks 90'
Nom e _
Subj ect Questwn No and Marks allotted
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SR ; PHYSICS : & o o ) - 98 Bis the a,ngie between thetwo plane mmors attached as ;
91.  Alightray reflected as plane surface and angle of reflection is 70°, which of the following = - shown in the figure. If the system forms 3i 1mages then. .
<o not répresertt the same? (NN' is normal to the plane surfice) O : “ - thevalue of 0 is e : i
o : . : S - : A1) 1200 : . (2) 96°
(3y 40° LT LAY 1800

’ 9 In a-house. everyday they are usmg $ix, __IOOW bulbs f for 3 hours_ ﬁve 6_(}W bulbs for o
6hours ﬁve 40W bulbs forZ_ ours; Iqthe r.nanth of i _

94, The mtensrcy of the sound IOUO tlmes more powerful than that total sﬂence is .
Coe 1) 1000 B (@) 3dB (3] SQdB __(4) 30 dB_

. '_'9_5-.:”_"_Wh1chofth foliowzngwcglied 5 B N e
"-_(1) Udo meter s .(2): _Piuvmmeter (3) Ombrometer _

(4) AEI the a‘beve

96 GRE = R R
Comse (3) 0. (4) 68
9T xlN ;_yi'_ K[s’-'_-,:. NJL - _.:: R R F N :
B R R (3) 3(mf
A, Baretwo bar magnetsasshown in theﬁgure Let{x y} (K L) arethe edges of thepoles-' .
respectively. Then which f the following is true? = . :
(1) yandKattracteach ottier R 3] yandLrepel each D‘Ehel

3) xand K»attract each other " {4) xand Lattract each other -

L 20-C
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CHEMISTR‘Y S PR s R 108. In the process of elestroplating the result i$
T H L a) - Concentration of electrolyte unchange
103, nghlymelhablemetal amongthe glvenmetalq Coal SIS - ! _ b}  Mass of the anode decreases .~
(1) Tron (2) Zine - (3) Gold .. {4)* Copper "~ ¢} +Mass of the cathode decreases
T S T R ) Concentration of electrolyte decreases . ca
_. 104 Matchthefoﬂowmg L e . (y agb @) b B a&:c ST CO Ly

. 109 thch of the foilowmg amd ES not hazardcuus o drmk
ok l) Concenﬁrated N

mi{_e'd_'aiﬁ’éﬁgé'm_enf o

. .11u'c:" fii=b iv-a
- of monomers)- <. -

ii d 111 & 1v i}

duﬁto reactmu of. SR

.. : (l) ()Xygen()nl'- : b : (2) O ygeuanﬁmQISture SRR S
T3y oxygeny carbond" x1de andmmsmre (4) oxygen hyche ' 'n_andm ls’rurc e

113 Whlch ofthe follo___ ng 1s Fzre extmgmsher” : ‘ Gl
S OalicAgid e () chPersmphate
D : i 3)- AmmomumHydromde G A AiumuuumHydroxtde
' {3}'Gasoime (4) LPG_ T S ——
2. ! 23.¢
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114. Instmment used to measure wind speed and directmn SR :
(2) - Ram Gauge (3) Anemometer {(4)  Periscope

{1) . Thermometer

115, Whnchofthebelowmamaiehalmone‘? : _ R NP IRt o
: SEIT (2) Progestemn _ (__3)._. Adreﬂali_ng' " (%) Testosterene . -
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: 127 _A nght angled tnangle has afl HS %1des are: m f

12 f,:._(}lobai gram
{1y, "Wheat

=y 0w

3} ‘Pulses o (4) .-Rlce “

. Root nadules of legummosae famﬂy plants conta1ns an argamsm C

alled
1lhum-" (3) Rliizobiim

(4) Ciostndlum o

- '-Calcmmhydrom ;
"Sodaum chlonde
1)~ Acenc deid g

- Sodmmbwarbonate

s 1_31'_._:1'?1;6@&_915,'91?. {1{—5}(1—1 1=
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* MATHEMATICS

126. If the mear ofa, b, clsMand ab+hetea= 0 Then meanof a?,b* c2 :s.-
(1) 4M: (@) sME
(3) Ml N (4) M2

nmeter of the trlangle ificms. is

3

@1 @ (3)—"'1“ G %
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132. Theleast number which when divided by 16 18,21 leaves remainders 3, 5and 8 is

S140, I A= x% ofy and B=y% of x then which of the followmg is truer’

(1y 1008 @) 995 (3) 1021 (4) 990
» ' - (U A<B ) AR
133. The mean of 5 numbers is 27. If ope more number is. mcluded then ihe mean is 25 The - (3) -A=B IR 4 : o
in&:ludednumber is _ o RN (4) “Ifx<ythenA=B
(1) 15 (2) 57 ,(3) 52 (4) 17 141 Fromthcadjacentﬁguxeareaofshadedregmms _14cmi P

e . : — T L (1) 42 cm? _
,___-134_:;f(4x+5) (3x+11)-"13 17 thenx— o S RERUERS B SR @) 196 ¢z
" @) 122 (3) 2 (4) R LR _.ﬁﬁ(3)_.‘:"_ om0

._1.35. ESonu S father zs thnc ;'.as old as Sonu After 12 years he wﬂ} be ju '_ twwe 1’115 daughtez"': = 4
EE __'Ehen the Sonu g present age1s (years) 3 . . o
U 10 E (z) 12 (3)

36 A rectangular lawn s 30 mby 20 m. Tt has w6 roads v
L 2w emnmng mthe midd of 1t as shownm the

_9}1‘23’1 th'-- £l :
L2} o SR

W N Yo 1__ o {3) _1 - (4) - ;

138y ’I‘hreenumbers are mthe ra’m:vl 2:3. The _sumof their cubesw98’784 Then‘the numbers are i
& '(1) 12,724,360 - @y 14 28, 42 : e
.:{3) 16 32 48 (4) 13 26 39

139 Aboyhas 3 boxes of d1fferent frults Box ‘A’ welghts 2‘1’2 kg more than box ‘B’ and box "’C’ : )
C U weights: 1(}1/4 kg more than ‘aox B: The total we1ght of thc boxes is 483/4 kg Then the

_we1ghtofbox‘A’1s R ;
1y 17k DR -(2) -22‘/4-kgj B
oy wnke @)y ke

. 26" C o ¢
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146. ‘Zabt’ was not possib_le; in tﬁes'c "prov_i_nce;s:
. (1) Gujarat only e
(3} Both Gujarat and Bengal
147. Underwhu:h settlement was avery plece of 1and. gwen a
~0f that as ﬁxed’? e

(2) DBengalonly
(4} None of thesc

(2) Permanent settlement

NMMSE)

survey number and Legal ownership -

| ‘GEOGRAPHY7:
15 6. In Wthh of the follow ng set . o . ' s
. theu gationt ing sets, are the places arranged from south o north w1th reference L

49} -Nigeria, France, Arctlc Tundra

(2) ArctlcTundra Fra
+(3) France, ngefla,Amtlc Tundra s France nge”a’

(4) Ara,tlcTundra ngena France

o 157 MQSt of the forests ofAndhra Pradeah fdlf m thls Category: j T

(3).*' ngah Sm‘a (4) PavulunMauana ST

155, The iastMughalEmperorwas '_ : ;f
495 ‘Autangzeb {2) IahandarShah/afar

(m M@mmmﬁﬁﬁﬁm (@ B&Mwﬂwﬁﬁm

?zs-c_

comber 22
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:

- 166..Which of the foilowmg sentenccs is correct? & .
(1)’ Baitisnota right of the accused

{2y, FIRis filedin the court

A3y -.-'The pehce is not part of. Judmmry
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ECONOMICS

176. For how mdny hours does a paper mill run in a day?
{1} 8 @ 12 BN R ‘ (4) 24

al: cases are. P by

_177 E;I;:der the following stdtements and selcct the correct answer using. the code gwen
. A) - Publi¢ Transport can help in reducmg pollutzon
CB) Useof helmets and seat belts can avoid many life risks. .
oy OnlyAs. correct :
: (__2) Only Bi is corrﬂct _
_(-3) . BcthA and: Bare correct
: 'Ne1ther A nor Bi 1s correcf .

; :hundre_d mpec note wrth her She %aw a prormse on: that note: whtch says
carer the' m}m of hundred mpees” Who Slgns that pramzse"

. 1 79 thch of he followmg _13 the most 1mp0rtan£ contnbumr to poverty in Indla'?;

(2) Lack of reguiar employment

(1) Lazines sof thepeople
S A G1vmg 1mp0rtance to agﬂCuimre ;

(3) “Mal numtlon

; ; eghalayal _
(2) Uttar Prade:sh has é. ia,rger'populatlon whﬁe Me ghalaya has a smallcr populatmn

{3Y Uttar Pmdesh is4 dﬁ:ve
(4) There ignot any spemﬁc TEason. for thls

3@C E

_ '_"1 80 Wh1ch constltutzonal amcle mentl(ms about ‘nght to Work"?

Ioped Tegion ‘while Meghaiaya isa backward regmn - S

(1) 41 ‘ (2) o T3y w17

opmn
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